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IE {3 K % ouT I N TOTAL] HDCP NET
& | ®|EE 42 50 92 19.2 72.8
T N 47 55 102 25.2 76.8
3 fz] HHR 42 41 83 4.8 78.2
4 fz| #EE K 55 53 108 27.6 80.4
5 fiz| MA HE 58 50 108 26.4 81.6
B-B| W& AL 64 88 152 36 116
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IE i K % ouT I N TOTAL] HDCP NET
& | TH FH 42 43 85 13.2 71.8
T L ES 47 46 93 18 75
3 2| 5B i 45 40 85 9.6 75.4
4 iz BEA 45 46 91 15.6 75.4
5 fiz| #WE ZBF 48 47 95 19.2 75.8
B-B| KIER & 59 61 120 36 84
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IE i K % ouT I N TOTAL] HDCP NET
& B ARBE— 43 43 86 13.2 72.8
sl A BE 43 48 91 18 73
3 | AXB— 46 43 89 15.6 73.4
A ET 43 46 89 15.6 73.4
5 ] RS 46 50 96 21.6 74.4
B-B| #HHA®Y 51 54 105 16.8 88.2
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IE i K % ouT I N TOTAL] HDCP NET
&l TRAA 34 43 77 3.6 73.4
e BEEETE 42 41 83 9.6 73.4
3 fz| WA ER 39 48 87 13.2 73.8
4 | Pl BE=E 47 46 93 19.2 73.8
5 | 5% B 38 47 85 10.8 74.2
B-B| =& xx 60 61 121 30 91
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IE {3 K % ouT I N TOTAL] HDCP NET
& B| #nl B= 39 39 78 4.8 73.2
e G 41 39 80 6 74
3 fz| JEE #H— 46 40 86 12 74
EANELEES 43 43 86 12 74
5 fiz| R4 2k 42 42 84 9.6 74.4
B-B| Il #— 64 58 122 34.8 87.2




